Obs | sex | shintyou | taijyuu | kyoui | jitaku | kodukai | carryer tsuuwa
1|F 146.7 410 85 | J 10000 | Vodafone 6000
2| F 148.0 430 80 | J 50000 | DoCoMo 4000
3|F 150.0 46.0 86 40000
4| F 151.7 415 80 | J 35000
5|F 152.0 35.0 77 | J 60000 | DoCoMo 2000
6| F 153.0 46.5 87 | G 10000
7|F 153.0 55.0 78 | J 30000
8| F 1544 440 75 | J 9000 | au 2000
9| F 155.0 480 83| G 180000

10 | F 156.0 420 85 | J 0 | DoCoMo 15000
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REG 7OL U
E7T /)L : MODELT
HEBZEH : taijyuu

RARAAEATFR—2 a0 % | 122
FERSNFATER—a0 % | 122
DR

ZR BHHE TH FEHEH | FlE| Pr>F
Model 2 | 8150.86244 | 407543122 | 8577 | <0001
Error 119 | 565468871 4751839
Corrected Total 121 13806
Root MSE 6.89336 | R2 05904
REBEHOTY | 5906066 | FEFH R2 T | 05835
EENRE 11.67166

INTA—EDHETE

INGA—H
T BHE HEE | Z%8E | tfE | POt
Intercept 1| -104.22857 | 1256735 | 829 | <.0001
shintyou 1 0.78259 | 007613 | 1028 | <.0001
kyoui 1 037198 | 008029 | 463 | <0001
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Obs | sex | shintyou | taijyuu | kyoui | jitaku | kodukai | carryer tsuuwa predi residl
1|F 146.7 410 85 | J 10000 | Vodafone 6000 | 42.1952 | -1.1952
2| F 148.0 430 80 | J 50000 | DoCoMo 4000 | 41.3527 16473
3|F 150.0 46.0 86 40000 45.1497 0.8503
4| F 151.7 415 80 | J 35000 442483 | -2.7483
5|F 152.0 35.0 77 | J 60000 | DoCoMo 2000 | 43.3671 | -8.3671
6| F 153.0 46.5 87 | G 10000 478695 | -1.3695
7|F 153.0 55.0 78 | J 30000 445217 | 104783
8| F 1544 440 75 | J 9000 | au 2000 | 445014 | -0.5014
9| F 155.0 480 83| G 180000 479467 0.0533

10 | F 156.0 420 85 | J 0 | DoCoMo 15000 | 49.4733 | -7.4733
11| F 156.0 46.0 82 | J 10000 | Vodafone 7000 | 48.3573 | -2.3573
12 | F 156.0 480 70 | J 30000 438936 41064
13| F 156.0 490 85 | J 25000 494733 | -0.4733
14 | F 156.0 50.0 82 | J 40000 | Vodafone | 10000 | 48.3573 1.6427
15| M 156.0 61.0 90 | J 0 51.3332 9.6668
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UNIVARIATE A+
T residl (EE)

E—AUb

N 122 | EAEHOEEH 122
Fi 0| &&t 0
RERE 6.83615129 | 4 &k 46.7329645
EE 1.93101277 | RE 7.16350956

BT A | 5654.68871 | BIEFEHF 5654.68871

EERE .| FEHOZERE | 061891606
EA#HEE
g [E5o0&E

Ty 0.00000 | 2#{RE 6.83615

rhgfiE | -1.38205 | &k 46.73296
R4E(E | -8.18322 | #E 48.26062

M4 EEE | 6.18850

Note: 4B DEARENHYE T (EH: 2), RCEIHARED LN THRL/NSHEEZRTLET

HIEDRTE HO: Mu0=0
RE nEtE p fiE
Student M t #&7E | t 0| Pr>lt 1.0000
HERE M =11 | Pr>=|M| | 00568
HEMHIRGSE | S -5135 | Pr>=1s| | 0.1907

EREDBRE

RE nEtE p fiE
Shapiro—-Wilk W 0.867004 | Pr<W <0.0001
Kolmogorov—Smirnov | D 0.111593 | Pr>D <0.0100
Cramer—von Mises W-Sq | 0487144 | Pr > W-Sq | <0.0050
Anderson—Darling A-Sq | 2940294 | Pr > A-Sq | <0.0050

SMiIm (E& 5)
K LR
100% Fx K& | 35.72987
99% 2527051
95% 966684
90% 7.36284
75% Q3 2.64306
50% H1 R {E -1.38205
25% Q1 -3.54544
10% -7.14415
5% -8.18322
1% -12.12499
0% fx%/IMiE -12.53074
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